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State Forest Service Examination - 2014
(Provisional Model Answer Key)

General Studies (Test Date: 21-Feb-2016)

Q1 : On basis of the temperature in which thermal category maximum portion of Madhya Pradesh falls?

Y 5haT o 3TTUR IR FEAYE T ST 31 TARTLT AT fohd dATdIT J9T 7 31T 82

Mega Thermal

31t ard

Meso Thermal

HET drT

Micro Thermal

e H ard

None of these is correct

Dl e amsag

Answer Key: A

Q2 : Trans Himalaya is also known as :

g fedTerT Aeiehd 7 ¥ fha a1 & i AT ST 8

The greater Himalaya

ggd feaTeT

Tethys Himalaya

e fearera

Shivaliks

IREURED

The lesser Himalaya

D

g fgATery

Answer Key: B

Q3 : Which river and its tributory have captured the basin of river Narmada?

SHET 14T o ATt T ITIERT ot H & TR AGT U 3HhT TGS el GaRT (Rl AT & -

Son and its tributory

T TF 3T TETIh AT

Wainganga and its tributory

J<TITIT UG T o1e

(' | Tapti and its tributory




ATt vg 3Tt T AT

Parvati and its tributory

b radl U 3T giaah 1T

Answer Key: B

Q4 : The term 'Archaean’ is introduced by whom from the following:

3fhTsT recTael ¥ Aeifehd ¥ frgsr aRRT = -

S.G.Burrad

TS g4

AK.Dey

T#H.3

J.D.Dana

S.3). 3T

T.S.Holland

b Ay gloes

Answer Key: C

Q5 : Which of the following is not related with the mechanism of the Indian Monsoon?

AR AT & Heblolor U [oieifehd # @ it FEfT AT & -

Tibetan Plateau

IGESGEIRIES

Upper air Jet streams

39 a1 i YRTT

Southern Oscillation

cfayoflt et

Temperature Cyclones

b frarsur srfeseir Tshara

Answer Key: D

Q6 : Which one of the following is not weather associated hazard?

AFATTh 7 & et HITH & T TSI AT & -

Cyclone

Tshdld

Drought

qdr

a

C | Tsunami




TATHT

S

None of these is correct

o] E—————

Answer Key: C

Q7 : The kinnauri:Dev Bhumi cultural region is found in?

ToheaiT Sars{{& FEepicr 817 a=tiichel & &gl IrIT ST & -

Arunachal Pradesh

TRV T&T

Uttarakhand

3cdTgus

Jammu & Kashmir

ST Td RAR

Meghalaya

D:ﬁramzr

Answer Key: B

Q8 : The national highway No.7 joins which cities from the following:
TSERT TSTHTT sheTeh-7 feaAifohd & & foret IR & ST & -

Varanasi to Kanyakumari

AR & e ATHART

Delhi to Mumbai

feeeh & 77es

Thane to Chennai

U Aeels

Delhi to Kolkata

b ool ¥ Srelaedr

Answer Key: A

Q9 : What is the name of the highest peak of Malwa plateau?
HTIAT TSR T I ST ANET T ATH FATE -

SiddhBaba

aegarer

Ralamandal

TelTHTS T

C | Sigar




IR

D

None of these

ST A 1S e

Answer Key: C

Q10 Which is called as NaramadaPuram?

FHET-GTH fohay gl STl & -

Division

FTaT

Dam

w

Elk3)

Pilgrimage

e

D

Tourist place

g T

Answer Key: A

Q11 Which Sikh-Guru had started 'khalsa panth'?

o T & o @rorar-ay gk foma -

Guru Arjun Dev

i

Guru Govind Singh

& e, &g

Guru Angad

ITE 371G

D

Guru Teg Bahadur

& 9T ST

Answer Key: B

Q12 Salar Jang is associated with which of the following city ?

TR 5197 T HoY AFafai@ad A 9 frg g a g -

Jind

S

Patiala

gfegrer

Junagarh




S GIEL

o

Hyderabad

D%m‘m

Answer Key: D

Q13 In which year did the third battle of Panipat take place?
AT &7 el geg, e ay g3 -

1756

1756

1761

1761

1765

1765

1771

D

1771

Answer Key: B

Q14 Which Delhi Sultan shifted capital from Delhi to Daulatabad?
feeel & fora FodTeT o Torerett fgeel & Slerdrare aRafda i -

Balban

dolde]

Firoj shah Tughlaq

TORRIST QITE JITeTeh

Muhammad Bin Tughlaq

HqgFHAE, e JaTersh

Ibrahim Lodi

Dl safemrana

Answer Key: C

Q15 The name of the Lord Cornwallis is associated with which of the following?

SIS HTeAdTTe T AT fAF=AiTehd 7 & fohash T ST g3 e -

Doctrine of Lapse

&39 &1 At

Subsidiary Alliance

HEIIh Hieel

Partition of Bengal

CEIREIRCE I G




Permanent settlement of land

D

G GEIRSIRICEACET]

Answer Key: D

Q16 In which year was the Hindu widow Re-Marriage Act passed?
feg, farerar qeiTdars gt forg s TRt o ara 7 -

1853

1853

1855

1855

1856

1856

1863

D
1863

Answer Key: C

Q17 Who were the first Europeans to come to India for trade?

HRA A SATIR & Ty 3771 aTel J& U T & -

The British

fafeer

The Dutch

EE)

The Portuguese

qetaTrelr

S

The French

D.i

Answer Key: C

Q18 Who founded the Forward Bloc?
HIAS Sclleh Shl TATIAT fohdeT T -

Subhash Chandra Bose

FHIY Tog; S

Jawahal Lal Nehru

STATeY oflel g ®

M.N.Roy

TH.UeA. T

D [ S.A.Dange




TH.U. 36

Answer Key: A

Q19 From which year the Governer-general was also being addressed as Viceroy?

IR STeliel I Tohd IV & TIIERTT HY FHgT ST 19T -

1757

1757

1805

1805

1858

1858

1885

D
1885

Answer Key: C

Q20 Independence of India Act.1947 was based on which of the following?
1947 T ARG Tadaar Al Frafaf@a & & g g smaRa ar -

C.R.Formulla

3R, BT

Wavel Plan

Jad grafalr

Mountbaten Plan

HAT3ecdce Aol

August Offer

D
3Ed 9¥d T

Answer Key: C

Q21 "Governer is a bird residing in the golden cage" whose statement is this?

"TEIYTS Flot o TSR # Toiare it arell TS & TAged §" I8 S foheTehr § -

H.P.Modi

T qr HEY

Sarojini Naidu

ST AR

H.C.Mukherje

T H@it

Shriprakash

Y geprer




Answer Key: B

Q22 Who is termed as custodian of the constitution in India?

HRA H AU T TR&TH Tohd hel AT § -

Parliament

EaEsroy

President

rseqfa

X

Supreme Court

gafea =IR—ITeT

None of these is correct

] F————

Answer Key: C

Q23 Which offence is considered as equivalent to the dishonor of the national flag?

HRATT TSE EToT oh ITTHTS T TohE ORI o o HIAT ST & -

Sedition

Trsg faRIedY 3TRTer

Terrorism

3Tdehdic

MISA

Hrar

None of these is correct

] F—————

Answer Key: A

Q24 Which country is responsible for pressure groups and interest groups in the world?

faea 1 gara Tg 3R fea-Teyg fha Ieg Hr e & -

England

[EEGH

France

el

America

AR

Australia

e

X




Answer Key: C

Q25 What is the minimum age to become member of state legislative assembly?
- TAUTe FHT T FeTT T & ford A I FATE -

25 yrs

259y

18 yrs

189y

16 yrs

16 a8

21 yrs

Dzlaér

Answer Key: A

Q26 In which district of M.P.Abuzmardia tribes are found:
HSTATTSAT STTATTd AT & fordt Forer 7 arft STl § -

Khandwa

EGEG])

Indore

EEEAR

Rewa

Jar

Chindwara

Dﬁ..

Answer Key: D

Q27 The native place of Bhilala tribe is considered in which state of the following:

TR SIS &1 FHel TUT foF=Tifehd 7 & fovd ToT A AT ATATE -

Madhya Pradesh

AEIYCA

Rajasthan

T &Y el

Chbhattisgarh

GYGIEIEI

Behar

fogr




Answer Key: A

Q28 Alauddin Khan Sangeet Festival is organised at?
3L W TARIE gl HATIT ST §

Khajuraho

ToRTE

S

Sagar

RIICIES

Maihar

IR

Gwalior

Lof

~

Answer Key: C

Q29 Which gas is needed for extinguishing fire?
3119 57T & ford 31 AT Fr1eT foham ST -

Neon

[GEIC)

Nitrogen

GIEGEC

Carbon dioxide

HI 3T TFASS

Hydrogen

Dmssm‘vr

Answer Key: C

Q30 Bauxite is an ore of:

SeFATSE TEH & -

Iron

g T

Tin

AT FT

Copper

GIEK

Aluminum

TegAITad &1




Answer Key: D

Q31 Chief component of Gobar Gas is?

TSR 3 T T Teh & -

Hydrogen

gISglotel

Methane

ey

Ethane

3o

D

None of these is correct

SoTd A 1S e

Answer Key: B

Q32 Most popular bleaching agent is?

FaT Ner T sl Uatee & -

Carbon dioxide

HI 3T FASS

Alcohol

3fodlgdl

Hydrogen peroxide

BISSIoleT 3TThaTSS

D

Sodium carbonate

afzaH Fefae

Answer Key: C

Q33 Edible soda is:

QI T AT § -

Sodium Bicarbonate

AIfsgH sEFEle

Sodium carbonate

aIfsad Fefae

Sodium chloride

AfETH FARSS

Sodium hydroxide

HIfSTA gIS3IFaSS




Answer Key: A

Q34 Which acid is used in the battery of car?
FR S # [5d 35T T 39T I & -

Hydrochloric acid

RESEGUECEIL]

Boric acid

S 35T

Sulphuric acid

HergReh 31Fol

Carbonic acid

Daﬂa‘ﬁﬁmm

Answer Key: C

Q35 The hardest form of carbon is?

ITeleT T HORTH T & -

Coal

I

Graphite

Yhrse

Diamond

BRI

Silver

E

Answer Key: C

Q36 Which of the following is a non-ferrous metal?

foveT 3 @ ler ¥ Jrefle U & -

Cobalt

FidTec

Aluminum

rgfafaas

o

Nickel

IGICT)

Iron

(_"‘n%T




Answer Key: B

Q37 Which city in India is known as city of temples ?
AR H TohE G Y ATl hl IR hgl STl & ?

Varanasi

JRIOTHT

Khajuraho

Gogr

S

Madurai

S

Thiruvananthapuram

D —

S

Answer Key: C

Q38 In which country is 'Silicon Valley' situated ?
TaTorhleT doir R S H & 2

Japan

KINIG)

United states of America

Tgerd T AT

Congo

1

India

D
AR

Answer Key: B

Q39 Which computer programme converts Assembly language into machine language?

ahleT AT HFYL TATH 3Tl IdsT i AT Idst H Feolar s ?

Processor

TET

Interpreter

eI

Compiler

HAUSOR

Comparator

FFIX




Answer Key: C

Q40 Plate shape object kept below mouse is known as ?
FHFYCT ATSH o &irdl T Tole TR T T FECATH g2

Mouse cover

A3 ehd¥

Mouse pad

g ¥

Mouse conductor

HI3H Teleh

None of these is correct

D

SoTd A 1S e

Answer Key: B

Q41 "Tally" software is used for:

D.T.P

Frévan

Communication

IR

Networking

Aegiehar

Accounting

D e

Answer Key: D

Q42 For a small website one needs to buy space from the ?

Teh oY SGATST o ToTT fohardl TUTeT 33 TohaT ST & 2

Network administrator

Acdd HATHSH o

Telephone exchange

A oy &

LS.P

I TEd A

None of these is correct

SoTH & Tohell & 8T




Answer Key: C

Q43 Which web browser was developed by Google?
IET o TohE O ST3oR i [aentare fonar -

Internet explore

SoeeIC UFHCARR

Firefox

HIIR B

Safari

THRY

Chrome

Da#m

Answer Key: D

Q44 Virus are transmitted by:
IR frdeh gaRT TR g & -

Floppy

FelTdY

CD

aran

Pen Drive

9T g13d

All of these are correct

Dmfr

Answer Key: D

Q45 Indentify the odd man out in the following?
P et A @ R TaE | e 1@ S ehel ?

Opera

3o

Mozila firefox

AT BRRBIHH

Internet Explorer

SoleeIc ThATelRY

Yahoo

g




Answer Key: D

Q46 Which device is compulsory for video conferencing:

AT ISP § hleT AT STRIOT AT & -

Printer

X

Scanner

THheX

Webcam

A A

D

Mouse

HASH

Answer Key: C

Q47 First world cup cricket match was held between which two teams?

g1 faed i fohdhe Y YE3NTA fohet &Y AT S NI AT A g5 -

India and England

India and Australia

R Td 3meeorr

Australia and England

D

India and South Africa

HRd UF &T&oT 31%hIehT

Answer Key: A

Q48 ‘Kalinga’ cup is associated with which of the following sports?

el Y HAFT T @d A @ fhH Ul @ FaIA g ?

Hockey

gl

Snooker

TR

LN

Football

v

HhedTel

S

Swimming

aRhr




Answer Key: C

Q49 South Asian games 2016 held at :
A3 VIR FH 2016 FHgT AT §T -

Guwahati and Etanagar

T[EATGIET 3R $TAIR

Guwabhati and Shillong

TETETEY 3R RretaT

Shillong and Etanagar

RreraT 3R $eeiR

None of these is correct

D

SoTd A 1S e

Answer Key: B

Q50 ‘ustolls’, ‘udolls’ and ‘Rendolls’ are the type of:

'IECTeH, STed' U (wslel fohdieh TR & -

Mountain

EEG]

Soil

AT

C

Cyclone

Tshdld

Earthquake

D
G

N

Answer Key: B

Q51 What is 'Coal Bed Methane™?
RIIAT HER AT FATE -

Mineral

gfast

Natural gas

Tehfcies 3|

Type of coal

FITA & ThR

None of these is correct

T A IS e




Answer Key: B

Q52 In which district of Madhya Pradesh Bairites mineral is found ?
AL & ford ool 7 S18tsey @ias 9T SiTrar g 2

Chhatarpur

Bl

S

Tikamgarh

[ACTaEIr

Bhopal

gt

Jabalpur

D
ST

S

Answer Key: B

Q53 The basic object of Pradhan Mantri Gram Sadak Yojana(2006) is :
ST FHAY FTH TS FTSTalT (2006) T IR 32T & -

To provide round the year connectivity to all villages.

Tl aTial &l QY Y JTETETH AT ST

To increase urbanization.

IR A giee e

Establish industries in rural areas.

TTHIOT &1 7 3T Ueth T HTaT

To launch ‘Clean India’ project.

D ;
'TITS AR IRATSTT hl YRH HLAT

Answer Key: A

Q54 On the basis of distribution of temperature and rainfall, A.R.Subramanyam and T.Shrimannarayan have divided the
climate of Madhya Pradesh in how many classes ?

T.3TR. FHUTH AT &Y. ANAARIGOT o AGHTA 87 & TR0 & TR I HLITEL T STefary i fehcler sttt
AT IRTE -

04

04

03

03

05

05

D02




02

Answer Key: B

Q55 Satpura thermal power plant is situated at?

HAYST AT AT helgs gl AT & -

Singrauli

SN

Betul

Saer

Pl

Balaghat

EIGIEIE

Mandla

D
HUTS

N

Answer Key: B

Q56 Which of the following period of India is known as the period of 'Population explosion' ?
ToFT H @ e AT T HRAT " STTHEAT T [AEBIC" el Hhgelldl & -

1981-1991

1981-1991

1951-1961

1951-1961

1961-1971

1961-1971

1971-1981

D

1971-1981

Answer Key: C

Q57 The Tata iron and steel company plant is situated at the confluence of which of the following rivers -

TTeT Sllg-EuTd HFdell GO fohet AfGAT & HereA W 3rafeua g -

Swarnrekha and Kharkai

TOT {@T AT TIHS

Hugli and Swarnrekha

gm?-‘frammvﬁm

Kharkai and Hugli

GIHS TAT garell

None of these is correct

ST A 1S e




Answer Key: A

58 The boundary of which district of Madhya Pradesh touches the borders of Uttar Pradesh an attisgarh?
Q58 The bound f which district of Madhya Pradesh hes the bord f Uttar Pradesh and Chhattisgarh?
ol & & Feaver 1 Hist A1 el SARYE 3N SeclHeTg S TAT T Tl g -

Rewa

Jar

Singroli

IR

Sidhi

Hrefr

Shahdol

D

NEEGE

Answer Key: B

Q59 Which district of Madhya Pradesh mainly produces Asbestos?
HEGYC H TEIEEH 3cdTee ol 9 fSrell T AT g -

Mandsour

HAeeaR

Jhabua

SIS

Ratlam

IdelTH

Khargone

D!?R?'ﬁﬂ'

Answer Key: B

Q60 Where is 'Agro Complex' of Madhya Pradesh situated?
HETYGL FT TIARFTFH Fal 79 ¢ -

Ujjain

3ooteT

Hoshangabad

EEICICY

Chhindwara

Searsr

Vidisha

fafeem




Answer Key: C

Q61 Find the word that best suits the meaning of the underline word in the sentence

We should restrain from reading cheap and sensational literature

Abstain

Squander

A
B Persist
C
D Offer

Answer Key: A

Q62 Fill up the with suitable preposition:

I am afraid snakes.

to

of

A
B with
C
D

at

Answer Key: C

Q63 A synonym of ‘forbid’ is

Forsake

Retreat

A
B Prohibit
C
D

Exhibit

Answer Key: B

Q64 An antonym of ‘feasible’ is

Impossible

Enviable

Tumultuous

A
B | Impertinent
C
D

Answer Key: A




Q65 Which sentence properly expresses the two separate sentences:

He is tried. He can not walk.

He is very tired to walk.

He is too tired to walk.

A
B He is so tired to walk.
C
D

He is much tired to walk.

Answer Key: C

Q66 Change the voice:

I know your father:

I am known to your father.

I am known by your father.

A
B Your father is known to me.
C
D | Your father is known by me.

Answer Key: B

Q67 Change the narration:

My father said to me, “Do you want money?”’

My father asked me do you want money.

My father asked me if I wanted money.

A
B | My father asked me if I should want money.
C
D | My father said to me that I.

Answer Key: C

Q68 When the children saw the dress of the joker, they could not but

laugh

laughter

A
B |laughing
C
D |laughed

Answer Key: A

Q69 The art of beautiful writing by hand is called:




Bibliography

Calligraphy

Taxonomy

A
B | Entomology
C
D

Answer Key: C

Q70 Use suitable preposition:

We are indebted our teachers.

for

by

to

A
B with
C
D

Answer Key: D

Q71 Whatis the time ___ your watch?

by

to

A
B|on
C
D with

Answer Key: A

Q72 Change the voice:

Let the cat drink the milk.

Let the cat be drunk by the milk.

The cat be drunk the milk.

A
B Let milk be drunk by the cat.
C
D

Let the milk be drunk by the cat.

Answer Key: D

Q73 That which can be eaten is called:




Legible

Edible

Creditable

A
B
C
D

Portable

Answer Key: B

Q74 He leaned .

against the wall.

at the wall.

by the wall.

A
B
C
D

to the wall.

Answer Key: A

Q75 Who can the fire?

fall out

take down

put out

A
B
C
D

carry out

Answer Key: C

Q76 What we perceive today as the Indian culture, is the fusion of many cultures. Art in India has been an integral part of

the day to day life. The rangoli, the various shaped pots, the ornaments and the beautiful patterns and designs
depicted on sarees are the different forms of art. The Indian art in the past was exclusively impersonal. The artist
aimed at expressing the common ideals of the nation (race) through art forms. This is the reason why the artists who
sculpted great monuments and painted great frescos that we witness in the caves of Ajanta, Ellora and Bagh, or the
artists who conceived and made the statue of Buddha of Natraj(Shiva in dancing frenzy) are unknown. This
anonymity of Indian art only emphasizes its true national character. The Indian art remained a collective expression
of the racial expression of the people. Even the Aryanisation could not uproot the prevailing culture. The Hindu
trinity of Brahma, Vishnu and Mahesh that occupies the highest place in the Hindu culture signifies the composite
nature of the Indian culture.

What is our perception of Indian culture?

A mix of various cultures.

Culture of the most powerful tribe that ever invaded Indian.

Exclusively Indian’s native culture.

S|l |w|»

Culture of the most dominant race that ever came to India.




Answer Key: A

Q77 What we perceive today as the Indian culture, is the fusion of many cultures. Art in India has been an integral part of

the day to day life. The rangoli, the various shaped pots, the ornaments and the beautiful patterns and designs
depicted on sarees are the different forms of art. The Indian art in the past was exclusively impersonal. The artist
aimed at expressing the common ideals of the nation (race) through art forms. This is the reason why the artists who
sculpted great monuments and painted great frescos that we witness in the caves of Ajanta, Ellora and Bagh, or the
artists who conceived and made the statue of Buddha of Natraj(Shiva in dancing frenzy) are unknown. This
anonymity of Indian art only emphasizes its true national character. The Indian art remained a collective expression
of the racial expression of the people. Even the Aryanisation could not uproot the prevailing culture. The Hindu
trinity of Brahma,Vishnu and Mahesh that occupies the highest place in the Hindu culture signifies the composite
nature of the Indian culture.

In the past, the Indian art was impersonal because:

The practice of art was not held in the high esteem of the society

The sole concern of the artist was the expression of the common ideals of the nation(race)

It was not very lucrative

A
B
C
D

Art was practiced for Art’s sake

Answer Key: B

Q78 What we perceive today as the Indian culture, is the fusion of many cultures. Art in India has been an integral part of

the day to day life. The rangoli, the various shaped pots, the ornaments and the beautiful patterns and designs
depicted on sarees are the different forms of art. The Indian art in the past was exclusively impersonal. The artist
aimed at expressing the common ideals of the nation (race) through art forms. This is the reason why the artists who
sculpted great monuments and painted great frescos that we witness in the caves of Ajanta, Ellora and Bagh, or the
artists who conceived and made the statue of Buddha of Natraj(Shiva in dancing frenzy) are unknown. This
anonymity of Indian art only emphasizes its true national character. The Indian art remained a collective expression
of the racial expression of the people. Even the Aryanisation could not uproot the prevailing culture. The Hindu
trinity of Brahma, Vishnu and Mahesh that occupies the highest place in the Hindu culture signifies the composite
nature of the Indian culture.

What reflects that art has been an integral part of day to day life in India?

The great frescos in the caves of Ajanta and Ellora

The statue of Buddha

The statue of Natraj

A
B
C
D

The rangoli, the ornaments, the shaped of pots and beautiful patterns and designs on the sarees

Answer Key: D

Q79 What we perceive today as the Indian culture, is the fusion of many cultures. Art in India has been an integral part of

the day to day life. The rangoli, the various shaped pots, the ornaments and the beautiful patterns and designs
depicted on sarees are the different forms of art. The Indian art in the past was exclusively impersonal. The artist
aimed at expressing the common ideals of the nation (race) through art forms. This is the reason why the artists who
sculpted great monuments and painted great frescos that we witness in the caves of Ajanta, Ellora and Bagh, or the
artists who conceived and made the statue of Buddha of Natraj(Shiva in dancing frenzy) are unknown. This
anonymity of Indian art only emphasizes its true national character. The Indian art remained a collective expression
of the racial expression of the people. Even the Aryanisation could not uproot the prevailing culture. The Hindu
trinity of Brahma, Vishnu and Mahesh that occupies the highest place in the Hindu culture signifies the composite




nature of the Indian culture.

What makes the Indian art genuinely national in character?

Its anonymity

The great Hindu Trinity

A
B | The great monuments spread all over the country
C
D Its transcendental nature

Answer Key: A

Q80 What we perceive today as the Indian culture, is the fusion of many cultures. Art in India has been an integral part of

. the day to day life. The rangoli, the various shaped pots, the ornaments and the beautiful patterns and designs
depicted on sarees are the different forms of art. The Indian art in the past was exclusively impersonal. The artist
aimed at expressing the common ideals of the nation (race) through art forms. This is the reason why the artists who
sculpted great monuments and painted great frescos that we witness in the caves of Ajanta, Ellora and Bagh, or the
artists who conceived and made the statue of Buddha of Natraj(Shiva in dancing frenzy) are unknown. This
anonymity of Indian art only emphasizes its true national character. The Indian art remained a collective expression
of the racial expression of the people. Even the Aryanisation could not uproot the prevailing culture. The Hindu
trinity of Brahma, Vishnu and Mahesh that occupies the highest place in the Hindu culture signifies the composite
nature of the Indian culture.

Which of the following is not true according to the passage?

The Hindu trinity signifies the composite nature of the Indian culture

The Indian art was exclusively personal in nature

A
B The Indian art has been a collective expression of the racial experience of the Indian people
C
D

It is not possible to attempt-to limit the Indian art to certain characteristics or qualities

Answer Key: C

Q81 g3ty gy srarcer o1 78T, Y 3R S0 W A TG HEe) & AT 3 HAl T STNT G E -

Al QeR

B |arax

Clumar

Dlsgar

Answer Key: C

Q82 o7, orfay, qeafay, el =i, areff, e, e ereel 3 gfdfer arscr ¥ -

Als




6

Cl7

D4

Answer Key: A

Q83 gt g s ey T e -

A | gee arae

B | gstr aras

C s arm=s

D | sii5reer aras

Answer Key: D

Q84 frw arw el o e wATH eI -
A | REeR
B |sfg mitan
C | anteza
D | smera

Answer Key: A

Q85 arochier 1 wfewr g & -

Al gade

B FIT*H—éFT

Claa+d=

D |qa+he

Answer Key: C

Q86 '347-arer 27 317t AT BT et T A -




FEN SRR Bl

B | arenfes sraif # arcerd @

C | Frer-ama 3 TR @

D | sfesars o 31797a YT

Answer Key: D

987 T TT UTeg TS eIl T AST & -

A | Frrardr

B | qerrareiterst

C | srordass

D | siogera

Answer Key: C

988 fow aTw greet 3 Fag e ereg Rifeea iforT -

Al 3ira

B | ifge

Cagaﬁ’

D=

Answer Key: A

Q89 ysrarery uganfory -

Al 3 dsF TR AT &

B 30 g1 A i §

C | i 3 & geaT Tl e &

D | qfysedy o 31999 9% gt

Answer Key: B




‘3R, S ot Ot SFee g M T Frefee A arFa g -

A | deg as

B | g&garas

C | feag arms

D | geat arae

Answer Key: C

991 T T 2ree AT 2T HTUTTT AST & -

Algd

LN

B |zr

C|ara

D | et

Answer Key: B

992 el HTITE -

Al feaaa

B | sreer

C | gomaq

D | &=

Answer Key: C

Q93 et FivgeT 3 Forw I ATaT & AT A GG HR ¢ -

A | Figer

B|&fow




Answer Key: B

994 T & YN F Ty FTITY -

A | fyearaurs safaa

B | ge11e1 3mea 3ik wasma arer

Cluwraaasaic

D | a&amit & g

Answer Key: B

Q95 qrezarerat -

Al iR daraad e

B |v# sik @arasrare

ClamsiRdaraaaraw

D |y sk @araa fr 3 aw

Answer Key: C

996 TR T e & -

A |egfiar

B | 3o

C |sFqear

DW

Answer Key: B

997 SIS 3T T O & forar Srar & -

A | sy At

B | ufgsar 3

C|memia




D |ge=tirr

o

Answer Key: C

Q98 Fayoor 3

A | few 31T 3791 Y eI Y ST

B | ue frs ereal # AR weqe o srar @

C | geret ereet o Trerard forar sfar &

D | seat & g arét

Answer Key: B

Q99 RIET 3R T AT, Teh-gER A Y07 &7 & 73 & | T2ATH: Ueh-gER & IHeloT w1ET b o ey &1 Ry
ﬁmﬁaﬂ‘raﬂﬁﬁﬁwwaﬁﬁadamd T hIH 6T 61 Tehell | ekl T IS 371 §¢ Hleh
Wwﬁ%wmm%ﬁmmﬁﬁwﬁwmwaﬁéaﬁlwﬁﬁmm
g heicy ¢ o a8 379 RISTT 1 58 Tehr RATETT Y o d elieT aEg3it 1 Tiet Fah

T AT FTHIT & -

A | @rer i giea ST Y

B | emex &1 FArar /AT

C | gara sfrast i Riem g

D | siferert & ufay st &Y

Answer Key: A

QIOO TRIGTT AR ITTHTT T, Toh-GER & 0T &9 & S & | TUTH: Teh-G@R 370197 AgT o0 ST Fehel | R
ﬁw@ﬁwmﬁﬁtmwmaﬁﬁmmwaﬁﬁmlﬁaﬂﬁmaﬂm
JTATTOTR &9 H TATHRR FHT ToIT ST & df 36 3170 FfSrehdT ol 5S¢ ket aTell IS AT | Teh Tt T18Teh ol
IE heled ¢ 1o g 3191 TSl 1 58 YehR RATEI o foh I sTefieTt a&3il 1 @it Fah '

ITEETe o T ST & -

A | A ST aX SISO T

B | Rrearelt s srearader s At

C | 7 &1 ot e




fR18Tr & G AfAIshdT & Aged I GHESTAT

Answer Key: D

Q101 Which of the following is not a cause of inflation -

fea=Tifehet & & e FEhITTT T HROTE & -

Deficit financing

el Tt & st

Rise in population

SITHET A gieg

Decrease in money supply

gre &1 facd caaern

Increase in wage level

P ety o g

Answer Key: C

Q102 The cause of unsuccess of economic planning in India is :-

AT H 31T ATSTAT3 & 3TTH T gl HT HRUT R -

Per capita income increase by low rate

ufd safFa s A A er A g

Price rising

Feggfee

Increase in un-employment

RIS 3 3

All options are correct

Dl e

Answer Key: D

Q103 Which of the following is not a component of "Human Development Index':

eI 7 | el AT [dehra Gelehieh' 1 T 781 & -

Healthy life

Ty SgeT

Access to technology

dheilh quq

Attainment of knowledge

EIGEIR I

D | Standard of living




ShaeT faaTg &1 &aX

Answer Key: B

Q104 In Madhya Pradesh where Group of Automobile Industries is situated -
HEIYCRA H 3T ATSST 36T HAE Fel & -

Pithampur

RYAR

Malanpur

HTeloTqY

S

Mandideep

AU

Maneri

Dl

Answer Key: A

Q105 When Ladli Laxmi Yojna started in Madhya Pradesh -
HEIYC H TSl T8HT IISTeT Shel TS 1 a7 -

07 January, 2006

07 ST, 2006

01 February, 2006

01 BaxT, 2006

01 March, 2006

01 AT, 2006

01 May, 2006

D

01 |, 2006

Answer Key: A

Q106 According to census 2011, which of the following district of Madhya Pradesh had highest rate of population growth

aY 2011 Y STIOTEAT o IHR HEITCR o [oia=Titehcl foha ToTel 7 STeTaecr Fallftieh 31Tt W e -

Indore

EEEAR

Jhabua

3T

Bhopal

AaTer




Singrauli

Dﬁ. "

Answer Key: A

Q107 According to population what is the position of Madhya Pradesh in India in census 2011 -
STAITOTAT 201 1 3 STTHEAT I T § ALY T HRA H il T FATT & -

Fifth

D Y

Answer Key: B

Q108 What is NAFED -
AThS FATE -

A Regional Co-operative Bank

T 8131 HEhRI S

A group of Industrialists

ECRICINIRRICT R

A Self Help Group

Teh T3 TdT AT

A co-operative society related to agricultural products

b T et & Haer 7 ggeny wer

Answer Key: D

Q109 Generally, the economic development of a country is determined on the basis of -

AT ToRdT 327 o1 31T Taehrd foher 31U o) foreTRe foram Srar & -

Per capita income

gfa safda 3T

Average literacy rate

3raa grearex

Health condition of the people

AT T TaTEey Rufa




All options are correct

D

goTH O s

Answer Key: D

Q110 In which city of Madhya Pradesh, gelatin making factory is situated -
ALIYS & frafaf@d # & ford et & e 1 FRamE g -

Jabalpur

Gwalior

FaTfor}

Guna

D
=T

S

Answer Key: A

Q111 From the following who released the Human Development Report -

AT faera Raté fe=ifera 7 & foraes garr Sy it s & -

UN.F.C.

g TA.Uh.H.

UN.D.P.

TS

ILP.C.C.

KRR

ILMF.

D

Answer Key: B

Q112 According to economic survey 2014-15, What is the share of agriculture and its allied activities in the estimation of
G.D.P. for the year 2014-15 -

37T A&t 2014-15 o TR SIS, & a¥ 2014-15 H HIY T SHRT T ITATATEAT T TehetlT TEEa
SATIT 37T -

19.2%

19.2 gfaera

14.6%

14.6 gfaera

C | 15.4%




15.4 gfaera

D

17.01%

17.01 gfaera

Answer Key: D

Q113 Which poet of Madhya Pradesh is known as ‘Shakespere’ of India —

FEIYUCA P [hy T &l TR T 'AFTU—IT FHgT SATAT 6 -

Kalidas

Fifolerd

Bharthari

HER

Bhavbhuti

@

D

Makhan Lal Chaturvedi

HIGeT AT Tgdar

Answer Key: A

Q114 On which place of Madhya Pradesh Jogeshwari Devi mela is celebrated -

HEGUERA 3 S92y Y &7 el el IATa grar e -

Chanderi

ELSY

Omkareshwar

K COrrry

Ghoghara

TeRT

D

Porsa

qIEar

Answer Key: A

Q115 Not only in Madhya Pradesh but also in the country the Hindi speaking fully literate district is -

AEIYEA T 8 AT T 20 7 Y Tk AT fyocy 97l ot |rem e 2 -

Jabalpur

Hoshangabad




EEICICY

Narsinghpur

Dﬁ‘

el

Answer Key: D

Q116 Name of first Hindi News paper published in M.P. is :-
AYIYC H TRAET {197 7 YR gt ITell TUH IWIR § -

Malwa News Paper

HTTT TGN

Gwalior News Paper

AT AR

Navjeevan Patrika

AdeirasT gt

Naiduniya

D

BEADER

Answer Key: A

Q117 The Value of [5+(1/12) of {38-(10+7-3)+1/2 of 24}-3] is -
[5+(1/12) of {38-(104+7-3)+1/2 of 24}-3] HT AT & -

alwnw|lwulsa]l s

None of these

D

T A IS T

Answer Key: B

Q118 L.C.M. of 12,18 and 27 is -
12, 18 3R 27T T T. & -

104

104

106

106

108

108




None of these

D

T A IS TG

Answer Key: C

Q119 H.C.F. 0f 324,576 and 784 is -
324,576 3R 784 FTHTT. § -

4
4
6
6
8
8

None of these

o] E——————

Answer Key: A

Q120 The largest three digit number when divided by 3 or 5 leaves a reminder 3 in each case is -

AT 31T i TR TS g&AT, T9W 3 A1 5 F [Afoa Fa W uds Bufa & duwe 3 @, g1ef -

991

991

993

993

995

995

None of these

P ——

Answer Key: D

Q121 The smallest seven digit number when divided by 8 and 13 leaves a reminder 5 in each case is -

1T 37T HI G orer T, 5 8 g 13 A f[qanfad i ) gl fafa & A9we 5 8, graft -

1000049

1000049

1000059

1000059

1000069

1000069

None of these

T A IS TG




Answer Key: C

Q122 The ascending order of number 2/5, 5/13, 6/11 is -
HEAT3T 2/5, 5/13, 6/11 FTTGATHAE -

5/13, 2/5, 6/11

5/13, 2/5, 6/11

5/13,6/11,2/11

5/13,6/11,2/11

2/5,5/13, 6/11

2/5,5/13, 6/11

None of these

P ——

Answer Key: A

Q123

1861/262

1861/262

1862/262

1862/262

1862/261

1862/261

None of these

D

SoTd { IS e

Answer Key: C

Q124 The price of a imported watch was Rs. 1200. Due to devaluation of rupee, its present value is Rs. 1800. The percent
of increase in price is-

Teh 3T T8Y T Hed 1200 F. AT| FY & HIH e o HRUT SHeRT TTHTT Hed 1800 F. §| Hod A gieg &1
wfcerd -

70%

70 gfaera

60%

60 Ffaerd

C |50%




50 gfaera

None of these

o] E—————

Answer Key: C

Q125 If the 55% of a number is 550. What is 95% of the same number-
Uh T&AT T 55 Tfaerd Ife 550 § | 36 G&ar &1 95 ufaerd & -

950

950

850

850

750

750

None of these

P ——

Answer Key: A

Q126 The price of a washing machine increased by 20% and decreased by 20%. The percentage change in the price of
machine is -

Teh Yolr$ AT T et 7 20 Tfcrera & giee 3T 20 wfarera & wt gich &1 #7MT Fr Hrara 7 aRade &
EIGKCEE

8%

8 gfaerd

4%

4 gfaera

6%

6 gfard

None of these

D

SoTH A IS e

Answer Key: B

Q127 ‘A’ sells a car to ‘B’ at 10% profit ‘B’ sells it to ‘C” at 30% profit. If ‘C” pays Rs. 286000. Then what was the cost
of car when ‘A’ bought it -

'3 Ueh R T T 10 T T I ST § | 'S SH R Bl H' T 30 T ST I Sl &1 I &' Ga’r &9
286000 $JITcTTeT fohdl ST § T 37" GRT R WG THI T Hed 4T T -

220000

220000

B | 210000




210000

200000

200000

None of these

D

T A IS e

Answer Key: C

Q128 Where is International Rice Research Institute situated?

SeACTe1 2Tl T5H NED SHEICYT el AT & -

Manila

HeATell

Mexico

Afraenr

New Delhi

3 feretelr

Hyderabad

D%m‘m

Answer Key: A

Q129 A certain sum triple in 3 years under compound interest at a certain rate of interest. Then it would become 9 times
of itself at the same rate of compound interest in year.

Teh AT aeRiRY el Torgfte samer ax & 3 a3 fie afoft g1 S1relt § e 75 Y fovctet a9 o 3¢ g i
SATST & T 9 [T g1 STt -

3 years

39y

6 years

6ay

9 years

99y

None of these is correct

] F—————

Answer Key: B

Q130 If a sum of rupee 8000 has been lent at 10% p.a. Compound interest. Then the interest of Sth year will be

Fa 8000 T TR 10 wfcrere arfien Tengfte sare ax & SUR & ST &1 o« 5 T a9 7 G111

1169.28

1169.28




1170.28

1170.28

1171.28

1171.28

None of these is correct

D

T A IS TG

Answer Key: C

Q131 The effective value of interest will be, when the compound interest compounded every 4 months at the rate of 20%
p.a.is

e 20 FTCRI aTiNeh & { TshgTte, SATST T AUTAT Tl TR ATE W I ST o FeATaRITe sATST &I g1l -

21.36%

21.36 gfaera

20.46%

20.46 gfaerd

22.46%

22.46 gfagra

None of these

D

SoTd U IS e

Answer Key: A

Q132 8 kg. of rice costing Rs.15 per kg. is mixed with six kgs of rice costing Rs.5 per kg. The average cost per kg. of the
mixture is

15 &, gty 5.3, A arel 8 el araer &Y 5 &, ufa fop. 3. e aror 6 et araer & a1y & e fear Srar g,
e TASOT &1 3 Hed g -

Rs.9 per kg.

& 9 gfa fp.am.

Rs.10 per kg.

&, 10 9fa fp.am.

Rs.11 per kg.

®. 11 9fa fR.am.

None of these is correct

P ——

Answer Key: D

Q133 Madhu Yadav is associated with which sport?
AY IIed I G fFa AT A E -

A | Cricket




fohehe

Table Tennis

cgaclaw

Hockey

gl

Wrestling

D

FAAT
DA

Answer Key: C

Q134 Rai is a folk dance of which region of Madhya Pradesh?
TS ALUIYCR & Tohd &1 o1 ileh o] & -

Bundelkhand

TACAEUTS

9 ~ <

Malwa

Nimar

IGEIES

Chambal

D[
qdel

Answer Key: A

Q135 Who was Magbool Fida Hussain?
Ahe fheT géiet lef 2 -

Musician

Had T

Painter

IBECAEY

Writer

SIGE

Environmentalist

o] [SEPI——

Answer Key: B

Q136 Who has written 'Kavi Priya?
HIATAT R T § -

A | Banbhatt




STOTHCE

Bhavbhuti

ik Gl

Keshavdas

FHeraery

Bhartahari

D

TER

Answer Key: C

Q137 When is International Literacy Day celebrated?
: AR ATERAT G e FAATAT AT & -

8 December

¢ femmsR

1 August

¢ 37T

2 September

R FAdAsT

15 September

b 23 FAaHAR

Answer Key: A

Q138 Where is the head quarter of United Nation Environment Programe?
TGehcl N TATERUT SHhRish# I HAGATT Hgl ¢ -

Nairobi

GAC)

Geneva

SteAar

Lusane

EiGH

S

Paris

D s

Answer Key: A

Q139 Which country has the highest number of computers?
faea # gaifers FAqge aren e g -

A | China




EIGH

Russia

4

United States of America

Australia

Duéﬁ

X

Answer Key: C

Q140 If the diagonal of a square is 64 cm. then its side is -
afe; Ty 9t o1 ot 64 &.31Y. @Y A gaehT o & -

4\-@ cm.

N2

16V2 cm.

16V2 T

32@ cm.

3242 FA

None of these

o] E—————

Answer Key: C

Q141 How Many Players are there in the Rugby football team ?
T Fearer S 7 frde fRerS gl & -

09

09

11

11

15

15

08
D

08

Answer Key: C

Q142 With which sport is the term "dig" associated ?
"3 ereE foh e W A TEfa §

A | Football




hcdlel

S

Volley ball

CICIGIG]

Table Tennis

[CERAGE

Hockey

P

Answer Key: B

Q143 Where is "Muktibodh Srijanpeeth" situated ?

Sagar

RIICIES

Ujjain

3STol

~

Bhopal

gt

Jabalpur

D
ST

S

Answer Key: A

Q144 The area of a triangle of sides 7cm, 8cm, 9em is -

7QHT, QAT 9 QAL T3 aTel Teh TI3TT T &1l E19T -

12 V2 sg.cm

1242 gt o,

12v5 sq.cm

1245 Tt

1243 sgq.cm

12 3 T a.a.

None of these

P ——

Answer Key: B

Q145 If the cost of flooring of room 20 meter long at the rate of Rs. 8/square meter is Rs. 2880. Then the breadth of the
room floor is -

20 HIeX oI FeT & B Fl 8 F. FTal/FINHICI T &3 T FeATal I AT F. 2880 3TN §1 A« BTy Aers graft -




18 m.

18 #.

22 m.

22 A

24 m.

24 Y.

None of these

D

T A IS T

Answer Key: A

Q146 Cash prize of "Kabir Samman" is ?
"HAR HHATT" 7 TEHHN HTAGT fhctett sehe AT TGTet hr STelt 8-

3 Lakh

3T

2 Lakh

R

10 Lakh

ICACIRC]

5 Lakh

D
g oTg

Answer Key: A

147 If tan” 8-3=0and 8 is in 3" quadrant. Then the values of sin & and sec 8 are -
Q
g tan® -3 =0T 8 F(l‘T-n?TEIHQQTQTﬁETHHSin 8 UG sec B o AT &i9T -

3,2

3,2

32,2

32,2

V3,2

V32,2

None of these

D

SoTd W IS e

Answer Key: B

Q148 If the length of shadow of a pole is 3 times of its height then the angle of elevation of sun is -
T T T BT $HDHT ST 1 /3 T[T § 9 G& T SoTaeT HIVT -




30°

30°

45°

45°

60°

60°

None of these

D

SoTd § 1S e

Answer Key: A

Q149 A ladder is placed against a wall such that it makes an angle 60° with the ground. If the distance between foot of
ladder and bottom of the wall is 3 meter. Then the top height of ladder is -

T HIET Ueh E1aR o TER 5F YR T & Toh, Tg ST T 60° 10T AT & | Tfe HNEr & I vd EaR & el
e & drer gt 3 e g1 o Hiér & F=irs gief -

3 meter

3 #HeX

3 "u@ meter

343 #Aiex

\E meter

V3 Aiex

None of these

D

SoTd & IS e

Answer Key: B

Q150 The value of 77/12 is -
Ta/12FT AT &

None of these

o] E——————

Answer Key: C




